ST 545 i = X 15
I KE A4 . BEH EDH%E
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
| fHERT1~4TH N — | B&#R — - — —
HEIMT1~3TH £ — | BEAR [T Rk ERT e - -
FHRITHFH JRILEAR, AENRCHESINCESENE 40 | L1 11f 175 2. 0t 2.0
Hitt
RFRLLS D s
1 REEEFAROVECRGEFTAEE 40 | L1 |F 8. 1F 158 2. 0 2.0
BIFRID
2 _RELLISh o HiE
(1) B Wi Py o B2 T i Ik |l 2. 6 4. 2t 2. O 2.0
(20 ERELIS O 40 | L1|F 8 1
HFRIHF ki 30 | 1.1 [#f 2.6
A AT IR 30 | L.1 [ 2.9
T4 BT BLIRT e 30 | 1.1 4 2.6
FAHET /M e 30 | 114 2.9
HAAREE Ecet 30 | L1 [l 2.8
FAERR ES 30 | 1.1 [4E 2.6
FAHT g 30 | L1 M 2.9
A RTAL BT 30 | L1 2.6
HARTAE I 30 | 1.1 [k 2.6
A HTAR g 30 | 1.1 [k 2.9
A HEA IR 30 | L1 2.9
H AT FeI EoT 30 | 1.1 [M 2.4
T4 BT ST Etein 3 | 1.1 —
HARTE A Erer 30 | L1 W 2.9
FAET 1 A R 30 | 1.1 [4 2.9
FHETES ke 30 | 1.1 f#f 2.4
GEALIE=TIE: Ese 30 | LA 2.9
HATHTIGTE ESET 30 | L1 4 2.9
GELIPAS S Eseio 30 | 1.1 [ 2. 6




ST 545 i = X °H
HXATE 4 . B ERBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * = # ®
| HAHT R Ecei 30 | 1.1 [ 2.6 4. 2% .0
F AT L H Eceiid 30 | 1.1 [l 2. 6l 4. 25 .0
FAET AR R 30 | 1.1 (Wl 2.6 4.2 .0
HRET IR I 30 | L1 2. e 4.2 .0
HFATHEN Ege 30 | L1 [ 2. 60 4.2 .0
H A E H I 30 | 1.1 Wi 2,650 4.2 .0
FRF-H Eet: 40 | 1.1 [ 2. gl 4. ot 2. 2l 2. 2
ME ML
1 B — | B (TR AT L e Y LR
2 _EREEESh o HER 50 | 1.1 [T B HEHT L YT b R b YR
T LA X 40 | 1.1 . Offi 2. 0
A S B b sk PN D R P L R 1 - L2 2.2
ERELASN 0 HiU 40 | 1.1 L2 2.2
A% =ty 40 | 1.1 L2l 2.2
N FEF E: 10 | 1.1 L2 2.2
AET1 « 2 TH £ — | Bk - - - -
HE [Rca A%
1 REHRAM — | B (7L HET HL e P e EL T
2 LEEA 50 1. 1 [ff7 e 38T b e b e e
A LA K ik
1 BEEREURIE P o B A HE K —oti 8. &l 12 2. O 2.0
2 RERLS O 40 | 11 (d 1ifr 1o 2. 2[; 2.2
T Eee: 30 | L1 [ 2. 80 4. Ol 2. 2% 2.2
i [ikcl=es — | B Fﬁtt@r;tti%ﬁkt;@ﬂ?tm%
T LR Xk
1 RO o B A il X —ft LOfE 14t 2. 2l 2. 2
2 LFELh o g 40 | 11| j: 27l 2. 2l 2. 2
2| BR Extid 30 | 1.1 il 2. 2

Wi 2. 8’%’@ 4. 0’%‘@. 2.2




&F0 545 i = X 3E
HXATE 4 . B ERBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
3| kR (ikcakAE: —% E%ﬁ%; ffﬁtlsi”gl‘ﬁttéﬁittfg ’ ’
LR Xk 40 | 1.1 = 2. 20 2.2
P gt 40 | 1.1 W 2. 80 4. O 2. 2k 2. 2
#x| K ER AT Ezsin - | B& s e
{L i AT g — | B -1 - A -
THE LIk 50 L. 1 (77 b YT b Y b e L v
AT LA DI
1 BEETREL g PN o B A —IFl LUpt 25t 2. Ot 2.0
2 LR oM 40 | L1|$ 17 31HL 2.0 2.9
PRT E=3th — | B s e
Mt =7 (R (AES: 50 | 1.1 [k eI b Y
AT LA R 40 | L1|F 17 L2l 2.2
Ry ik S B A P D f2 B XS —f#ti 4.5 L2l 2.2
_EECLIA 0 HiE 40 | L1|F 7.8 L2 2.2
| AT g — | BB - —
KA R g 1 — | By |ICHE e L
_ERCLAS 0D Hitksk 50 | 1.1 |fitk¥E Yt b Y
K I 40 | 1.1 [40 2.8 Lo 2.2
R I 40 | 1.1 [#f 2.8 . [: 2.2
FRET g — | B -1 - - -
HE AR VB R, B BERR RT3 HR S OVl 50 | 1.2 e
FRFAFR 2 BRI B = 4 Fo ik
LFELIA- o ik 50 L. 1 (7 B SET B YT b T P T
R e — | B -1 - - -
R =t 30 | 1.1 2.8l 4. or@ 2. 2 2.2
‘¥ 1TH Eeei 50 | 1.1 A7 EL¥E B HE L M L EE
m# 2 TH I 50 | 1.1 |mite¥EMLEHE - —
fE S ET E=:4 — | B -1 - - -
Dy HERRSFE I 40 | 1.1 [l 2. gl 4. Offl 2. okl 2. 2




&F0 545 i = X 1H
HXATE 4 . B ERBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
Dy HF (ikcakAE: 50 1. 1 |77 bt #ET b BT b T b
LR Xk 40 | L1|F 20fF 428 2. 0f 2.0
#hHEr £ — | B -1 - - -
MTH kA 40 | 1.1 W 2. 8R4, O 2. okl 2. 2
$RET g — | B -1~ - -
FFE1~5TH e — | B -1 - - -
FEA [EcRlEes 50 | L1 (MitkdEdRRYEE | —
AT AR X g
1 JEEEEIR M PN oD B A K —fl 8. gl 110 2. 2 2. 2
2 LSO K 40 | L[| 1ifE 224 38k 38
=37) A E R 50 | 1.1 |7 bL HET H YT b e b
A AR K
1 RELBEETASEREV
(1) B R gk P oD 2 F it I —fl 12t 258l 2. 2 2.2
(2)  ERCEAS D HER 40 | L1 [ L7 31h 2. 2% 2.2
2 BRSSO
(1) JRSEIR T Mg o R ] i Xk —t 9. Sl 13 2. 20l 2, 2
(2)  LRCLAS DM 40 | 1.1|F 1F 2000 2. 20 2.2
F I 40 | L1 A0 2. 8 4. o[ﬁ 2. 2[; 2.2
&R IR ST EF B 5 M R ORI & IR ERRRR
1 BEEREURIE P o B A HE K i 1UpE 2580 2. o 2.2
2 RERLS O 40 | L.1[|¥ j: 31 2. 2 2.2
FELLA D it
1 BEEEREHIE P o A K0 | 6. Bl 7. 8 2. 2l 2.2
2 ELS o 40 | 1.1|F 8. g 14E@ 2. % 2.2
iy i Ik
1 BEHRh — | BRAR ke | —
2 kRS i 50 | 1.1 |HkigTiedE -




&F0 545 i = X 5E
Rk ST ______RREE
T'Ebfﬁ O ke E m w A ey ngiﬁﬁﬁuﬁﬁ%ﬁ {ff R
% e & & ﬁ-f 7 #
oy AT LR
1 BRI o B A Hl X I —fd 9.8l 15 @ — —
2 LERLIA o i 40 | Lt|doagd o211 | —
mH1TH Eeis — | B [bkuEEE | —
Ry P 2 AR B 355 PR D JE Rt DX —#l 6. 3L~'a 8. 8l 2. 26l 2. 2
EELIA 0 i 40 | L1 |90 14k 2. ol 2.2
kAo T Ees — | B -1 - - -
R geit 30 | 1.1 W 2.8 4. 0 2. 2k 2.2
Lk =i 30 | 1.1 2. 8[: 4.0l 2. 2l 2. 2
HRET TR R
1 SRR — | BEHR (TR HERT L BT b e T
2 LRELSt oo 50 | 1.1 |7 LYET B AE T b YT b T
AT AR X
1 e
(1) REEIRELHIE A O R H i Xk —fl LM 25 2. 2l 2.2
(2)  ERESASSDHIEL 40 | L1|F 17 41 64[: 64
2 hEELIA o Mg
(1) FZERELHURP O 2 Hr X —t 12 2250 2. Ol 2.0
(2) EFELSOHIE 40 | L1 [¥ 14F: 31 64[: 64
BETIL1~4TH |2 50 | 1.1 —[FF7 e T b Mt b o
HEENEL - 2TH |[HE bRk 50 | 1.1 - - - -
A AR Xk
1 BB o B2 A X I —Fl Lopll 25 2. 2 2.2
2 LERLIS o s 40 | L1 17 41t e4 64
EEBEEWES - ATHE |2 50 | 1.1 |7 by e b v b v
HiFEmE 1 ~6 TH [MfbXiRk 50 | 1.1 |7 LY H AT e R e T
AT AR K ek
1 BRSSO 2 A X — | 10r’@ 25?@ 2. 2t 2.2




ST 545 i = X 6
HXATE 4 . B ERBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
ny EEEETR 1 ~6 T H 2 BREELSOHUS 40 | L1ff 17 41 64 64
Niw1~5TH I — | B o s s
TR ETAE 7 B £ 40 | 1.1 o
{7 S BT A EzeEn 30 | 11 [R 2. TR 4. 1 2. 1 2. 1
HIFATSTER Ege 30 | 1.1 fWE 2. 7[2 4. 1 2. 1 2. 1
IRE A= K 30 | L1 [WE 2.7 4. Gl 2. 1 2.1
R ET /N Ets 30 | L1 R 2. TRE 4. 1 2. LE 2. 1
T /MR A IR 30 | 1.1 2.7 4. L 20 1 2.1
{PI T /N KA 30 | L1 2. TRE 4 LRE 2. 1 2.1
FTIEET AL Eet’ 30 | L1 R0 2. TR 4. L 2. L 2.1
IFERTE A Eeitd 30 | 1.1l 2. T 4. IR 20 1 2.1
PR R 5 IRIE RS B XA AR 40 | L1|% 9.0 140 2. 1l 2.1
EELIA O 40 | L1 2. THE 4. TG 2. 1 2.1
PR HTHS =ty 30 | L1 2. 7Rl 4 19 2. Ll 2.1
R AT AL AT E: 30 | L1 [WE 2. T 4. 1 2. |
{7 S ET AR Ex: 30 | L1 2. 7H 4. LG 2. 1
)G = g 30 | L1 2.7 4.1 1
M E] = g 30 | 1.1 [ 2. 7fE 4.1 1
TRET R — A ENEEHE S IaaEn Sl 40 | 1L.1(f 9.0 145 1
ERCLLSR oD Hirksg 30 | L1 2 7HE 4.1 .1
IR G g 30 | L1 2. 7feE 4. LRE 2. 1RE 2. 1)
AT S Ecei 30 | 1.1 (W 2. TG 4. 1 2. 16 2. 1
TR JECHT A sk 30 | 1.1l 2. 7fel 4. 1 2. L 2.
IR AT R=HR RHAFINLIR 40 L1{F 9.0 148 2. 1 2.1
RERLIA O I 30 | 11 2. TR 410 2. 4 2.1
R AT 78 P 8 <5 E=eh 30 | Ll 27wy | —
TP JEFL AT B gt 30 | 1.1 [ 2.7 4. U 2. R 2.1
{RJ JE T 4890 ] J5 BERFEE R @R 40 L1|% 9.0 14’%@ 2.1t 2.1




ST 545 i = X TH
HXATE 4 . B EREEE
p| 7 TR aRe  E W % A e T Tk e | s [
7 {R] ST SR R LIS o ik 30% 1. 12@ 2.? 4. ?1’@ 2.?% zﬁ i |
AT A A% I 30 | 1.1 [ 2. K 4. 1f 2. 1 2. 1]
AT AR gt 30 | 11 2.7 4. G 2. 1 2.1
{7 ST AR EzeEn 30 | 11 [R 2. TR 4. 1 2. 1 2. 1
AT =248 gzttt 30 | 1.1 [ 2. 7E 4. 1 2. 1 2.1
{JEETIL B ik 30 | 1.1 W 2.7 4. LT 2. U 2.1
{RJR BT 1L B 30 | 1.1 M 2.7 4. LT 2. 1 2.1
HIRETE S Eoes 30 | L1 (W 2. 7feE 4. L 2. 1l 2.
P AT Sl A =i 30 | 1.1 |HE 2. L1l 2.1
IR B AT Ecein 30 | L1 2. 1 201
T — A BB AR 40 | L1[|F 9. 1l 2.1
EFELIA 0 40 | 1.1} 2 Ll 2.1
T IRRTFOZR R Bt 30 | L1 Wl 2. At 2.1
peiliay Eee — | B -t - - -
| dE1 - 2TH =ty 50 | 1.1 — - - -
Ela vy SR T 3 40 | 1.1 —| [T
RFRLAA D Hitks
1 R 40 | 1.1 | b HET B HET B e EL
2 T TR 40 | L1 [ 4. 60 7. OF@ 2. 2 2.2
1741 ~3TH Bt — | E# ‘rﬁtt%j:itti% -1 -
<| EZ ot SR BB P D 2 P M D —E 6. 30 10%E 2. 20K 2. 2
RERLLA o HitkE 40 | L1|% 10 143k 2, zrm 2.2
El R AT ek — | BEAR (TTLL T L L T L
LECLAS 0> itk 50 | L. 1 |7 B B b AT b T
JE& H P S MG P 0 P i X0 —{ll 5. 4 7. 5% 2. 2 2. 2
_EEELIAN 0> itk 40 | L 1| 10 14%0 2. 2% 2.2
SRATHT [ikczp (s — | B# ﬁtti”éﬁbt;@f‘:btfé
AT LR K 40 | 1.1 — —ﬁm 2. 2t 2.2




SF0 S s ® K 8
T XITH 4 . BT EREEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = = = = # =
S BT AR g 30 | 1.1 (W 2. 5[ 4. 1 2. 1 2. 1)
ELES Exin 30 | 1.1 [ 2.5 4. 154 2. 1 2.1
KA ER R ik 30 | 11 [E 2. 40 4. 1L 2. 1fh 2.1
KEET A £ 30 | 1.1 2. 50 4. 1R 2. 1 2.1
Sy ) L 40 | L1 8.1 13% 40 40
LFRELA o> it
1 IR O B A Hh XK |t 5. 4l 7. 8t 2.l 2.1
2 kFCLA o Mtk 40 | L1|F 9.0 237 40 40
RE AT Ly ik 30 | 1.1 [l 2.4 4. 1 2. 1l 2.1
T B ey 30 L1%25E44L24%24
KTk 1~ 3 T Bk 40 | L.1[# 9. 40
S HT AR e 30 | 1.1l 2. L1l 2.1
e T IR 30 | 1.1 [ 2. At 2.1
SR T & Ext 30 | 1.1 2. L1l 2.1
AR A e T 3 30 | L1|# 9.
ERELASR D iR 30 | 1.1 2.
SE T R USEUAN VN3RS 30 | L1 o
LFELLS D i 30 | 1.1 2. 50 4. 1
ENLI NS T Eee 30 | 1.1 [l 2. 40 4. 15
IR IR 30 | 1.1 [l 2. 4l 4. 15
KAATHIET 1 ~ 37 B4tk 40 | L1|F 128 28
RS T &I e 30 | 1.1 [Rd 2.5 4. 1
R Eoeid 30 | L1 2.4 4. 1R 2. 1 2.1
e Eoei 30 | 11 [E 2. 40 4. RE 2. 1fh 2.1
AT £t 30 | 1.1 [ 2.5 4. 150 2. 1 2. 1
REITE S =i 30 | 1.1 W 2.4 4. 1 2. U 2.1
SEHET A EiE 9 Zinwn 30 | 11 |H 8. 13 2. kb 2.1
ERRLAA o U 30 | 1.1 [f 2.4t 4. 1 2. 1 2, 1




ST 545 i = X I
HXATE 4 . B ERBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| &EET AR ES3in 30 | 1.1 [WE 2.4 4. 100 2. 1R 2. 1)
R BT ek AT BLR
1 HidE REEARIR Y 40 | 1| 9.0fF 234 40 40
2 FELS o 40 | L1 oo o/ 23% 2. 14 2.1
A LATE
1 dkERE, AR, 822 40 L1 oof 239 40f 40
2 Tl AREARS 40 | 1P oo o 23 40 40
3 ERELSh O HuEL
(1) 3 4R B Il P oD JE2 P th XA it 5. il 7.8 2. 1l 2.1
(20 ERELS OIS 40 | L1 |4 9.0 23[;@ 2. 14 2.1
R ET EAR Ei# 9 Figwn
1 BRI A PN oD Rl 3 —fit 5. 4 2.1
2 LELU OISR 30 | L1|F 81 2.1
RFRLLA o> Hitkek 30 | 1.1 2.4 2.1
ST R ES 30 | L1 2.5 2.1
S T AR Ex: 30 | L1fhE 2.5 2.1
RHET I E g 30 | 1.1 2.5 2.1
EETI WA BT, BTHIENL 30 | 1| 9.0 W40
LFELIS O HiH 30 | 1.1 [ 2.4 e 201
ZufHT Eeei — | BB - - - -
A Pt SR B IR PN 0D B PR M Dk — 4. Ol 7. Gif 2. 2l 2. 2
EFCLASN 0> HR 40 | 11| 8.8 143 2. 2% 2.2
Z| sk 30 | L1 2. 8 4. oEﬂ; 2. 2% 2.2
514 £z 30 | 1.1 2. 80 4. O 2. 2 2. 2
L AT Eein — | B Fﬁtﬂ%fﬁtlsi‘ér -1 -
[ JRF BT IR A =i 40 | 1.1 [Wl 2.8l 4. L0 2. 26t 2. 2
(R HT R TR g 30 | L1 W0 2.8l 4. 1 2. 2l 2. 2
Il FrF BT S A Eset: 30 | 1.1 [# 2. gt 4. 1?@ 2. 2l 2.2




ST 545 i = X 105
HXATE 4 . B ERBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
Z| EFHETR g 3ﬁ 14}@22 4?@23F2§ ’ |
P AT AR £ 50 1.1 Fﬁtt@r;tti’éfﬁttﬁfﬁtbf%
1~3TEH
[E BT H kA 30 | 1.1 [ 2. 8l 4. 1R 2. 2 2. 2
ERFET R E Epe 30 | L1 W 2.8 4. 1 2. 2l 2.2
] PR BT o] ik K 30 | 1.1 2. 80 4. 10 2. 26k 2.2
[P T LA Eet: 40 | 1.1 [ 2. gl 4. 1 2. 2l 2. 2
EFHTRA 1~ 3T BIRIR 50 | 1.1 |7 b e b v b T
[ERFET L5 ik 30
[l e BT I 30
B AT A5 IR 30
ES)STIEESE st 30
BT E 255 Eoei 40
EFHT =457 =ty 30
ERFETIR A E: 30
FERFET T AR Ex: 30
[ RT 4738 1 S A -
1~4TH |LFCEisto sk 50 OO i = i = =
[EFFETHET 1+ 2T H|2i% 50 | 1.1 (77 b M7 b YRS b M b T
[l oy T 7 B IR 30 | 1.1 A 2.8l 4. L 2. 2t 2. 2
ESVELIREWR EoT 30 | 11 [A 2. 80 4. 1E 2. 2 2. 2
] e T = ] Ecei 30 | 1.1 [RE 2.8 4. 1 2. 2 2. 2
[ERFHT 2 et 30 | 1.1 2.8l 4. L 2. 2 2. 2
ERFAT T8 £z 30 | 1.1 [ 2. 80 4. 1L 2. 2l 2. 2
[ Jef BT R % £ 40 | 1.1 [l 2. 8l 4. 1 2. 2l 2.2
[ERFRT T E=eh 30 | L1l 2.8l 4. L 2. 2 2. 2
ES)/SRUEZN gt 30 | 11| 2. 80 4. 1 2. 2k 2.2
LT T 8 Eseun 30 | 1.1 il 2. 2

Wi 2. sl 4. 1’%‘@. 2.2




ST 545 i = X 11E
HXATE 4 . B ERBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
Z| ERFHT R i 30 | 1.1 [ 2.8 4. I 2. 28 2.2
IR BT AR A8 I 30 | 1.1 A 2. 80 4. 10 2. 2 2. 2
[EURF RTS8 gt 30 | 1.1 2. 80 4. 10 2. 26k 2.2
[ PR IR P9 EzeEn 30 | 1.1 2.8 4. TG 2. zrﬁ 2.9
ERFAT 4y |1~ 4 T B4 50 | 1.1 [T bk M b YT b M L
ERFHT A4 57 Esin 40 | 1.1 [ 2. g0 4. 10 2. zrﬂ 2.2
[E FFRTHET [k (Are: 50 | L1 — — [T L ¥ b 2
AR X I 40 | 1.1 (Wl 2.8 4. 1 2. 26 2. 2
[E FET R R g 30 | 1.1 |WE 2.8l 4 LR 2. 2% 2.2
[ Ji T 22 3K £ 30 | L1 [R 2.8t 4. 1 2. 2 2.2
ERFETE T b X 5 | L.1 ﬁ?tti’émttfémtti%[fitt’@
AT LA R 40 | L1|F 11 14 2. 2%t 2.2
[l Jrey BT L Uy IR 30 | L1 [0 2.8l 4. 1l 2. 20 2.2
ERFAT LR =ty 30 | L1 2.8l 4. 15 2. 2 2. 2
[FElRF I 5 B Ece 30 | 1.1 [l 2. 80 4. 1L 2. 2l 2. 2)
FERFET L it Ex: 30 | L1 (W0 2.8l 4. 1 2. 2l 2.2
B g 40 | 1.1 |fdi 2. s 4. Ol 2. ol 2. 2
IR E=R 40 | 1.1 [0 2. 8l 4. Ol 2. i 2. 2
MREA Ei& 9 5pw
1 SRR o 2 Tl X —l 1O 1OWh 2. 2%l 2.2
2 _LEBsA o ik 40 | L 1|4 12 23%E 2. 2% 2.2
EFELA o> ik
1 BEEIR B P oD B M X I —l 6. 3l 108 2. 2 2. 2
2 LELISt oM 40 | L1 1o/ 170 2. 2 2.2
H S ET Ezin — | B ﬁitti’éfﬁthﬁﬂitti’éﬁttf%
HFET £t — | BEAR (TiiuETILYE - —
LT gt — Lo 195 2. 2k 2. 2
WAL 1 ~4TH |[FdHbXig




ST 545 i = X 128
HXATE 4 . B _____ GmBEE
S (TR wass @M m oW g [P ACEERTEECEA RS
WAL~ A TE | 1 R 7 E%ﬁ%‘rﬁttzfgfﬁtﬁgﬁittéﬂitm%
2 _LEELA o M 50 1. 1 |77 bk HET ¥t e b 7
AT {L A X
1 EREiR B s Py o 2 R il KO 10T 19 2. 2t 2. 2
2 EECLIA oD 40 | L.1|# 14[: 28 87 87
WILRTILS - 6 TH |HHHLRE — | BEHR [T R e e e b 2
AT LA DI
1 BEETREL g PN o B A —f Lot 19l 2. 2 2. 2
2 LRELU o i 40 | L1|F 14[: 268 87 87
ILETAE 1 ~4 TH |FigMEXR
1 SRR — | BEHR (TR HERT L BT b e T
2 LFEEIA o M 50 1. 1 |77 B #ET LY e e b HE
AT AR X
1 RERERSFREN 40 | 1.1 = 427 87F 87
2 LRELIA o Mt
(1) R B e iy oD J2 A I — 12 22t 2. 2t 2.2
(2)  EFRECAS o HuIR 40 | L1|% 19 34 87 87
WILETR 1~5TH |2 — | B (7L HET HL e P e EL T
WAILRTRET 1 « 2 T B |[HEHLER 50 | 1.1 (77 b M7 b YRS b M b T
[EEeglatidee s
1 BEEREURIE P o B A HE K el TOfE 198 2. o 2.2
2 RERLS O 40 | 11| 14r: 26/ 87 87
WILETR 3~ 5 TH |iigbIXigk 50 1. 1 |77 EbHERT ¥t e L 7
AT (LA Xk
1 ERRER B PN o 2 R il s 10 19 2. 2t 2. 2
2 LERLS o 40 | L1|F 14[: 264 87 87
HRRE P S iR LIS N D FE L 4k |t 5. 48l 7. 50 2. ol 2.2
REELIS O I 40 | L1 7o 1 34h 34




ST 545 i = X 138
HXATE 4 . B ERBEE
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
&| FAAET EEti — | B# - — — —
ST BNy — | B s s
LA Dkcak(aE%: 7 50 1. 1 |77 bl ¥ET e ¥ B v bL 7
LS 40 | L1 13 21 2. 2 2.2
PEIRET Kt Ege 30 | L1 W 2. 600 4. 200 2. Offli 2.0
TR HT BN gt 30 | L1 |WE 2.6l 4. 2%l 2. O[:u 2.0
FEIRET 25 Eeei 30 | L1 W 2.6 4. 20 2. Offfi 2.0
PEIRET HIHEA Eoes 30 | L1 [WE 2.6 4.2 2. Offi 2.0
TR IR =i 30 | L1[# 2. 6
FETRHET A H Eet’ 30 | 1.1 it 2.6
PETRHET A IR 30 | 1.1 2.6
PelRET /N st 30 | L.1[# 2.6
PEIRET = 1L IR 30 | L.1fit 2.9
PEIRET D> < A =ty 30 | 1.1 2.6
PETR T Ece 30 | L.1[4E 2.6
PeIRET EEET Ex: 30 | 1.1 [A 2.8
PETRETHE R Es: 30 | L1 2.6
PETRET Ece 30 | 1.1 2.6
PETRET I 30 | 1.1 [if 2.9
LIRS gt 30 | L1 2.9
PETRHET i g 30 | 1.1 2.6
PETRIT #REE ESein 30 | 1.1 [ff 2.6
R sk 30 | 1.1 2.6
B il R R B A S AR A L
1 ERRER B PN o 2 R il s 18 31 2. 2t 2. 2
2 LERLS o 40 | L1 2yt 41 34 34
L FRELA o itk
1 RN o B A O —J#t 9.5

’ﬁ 13’%‘@. 2. 2% 2.2




ST 545 i = X 14E
HXATE 4 . B ERBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| Bz 2 kRS OHIK 40 | L1|F 14 28% 34 34
SRS BNy — | B s s
U| B4 fr SR LIS PN oD f P L Bk —Hl 2. 8Bl 3. 8l 2. 1l 2. 1
RELIS O 30 | L1|P o5 150 2. 1 2.1
R M5 T [ A Ege 30 | 1.1 fWE 2.
BRI &% 1E I 30 | 1.1 W 2.
B2 B HTHRT A Eet: 30 | L1 Rt 2.
BB HT /NBI BT Eoein 30 | 11w 2.
JER 5 T B S B b 3k P oD R L R —fwt 2.
EELIA O Hi 30 | L1|F o
JE BT IR 30 | 1.1 2.
JEBFHT R st 30 | 1.1 2.
JE M BT <F N IR 30 | L1 Wl 2.
JEL P T A P =ty 30 | 1.1 2.
JEE ST o sl Ece 30 | 1.1 2.
PR EFRT A Ex: 30 | 1.1 W 2.
JEBBFET A4 Es: 30 | L1 2.
FEEFET = g 30 | 1.1 [k 2.
3 I 40 | 1.1 [#f 2.
s RSB S R JE MR VR L
1 BEEREURIE P o B A HE K —oti 6. 30 120 2. 24 2.2
2 kELMS ot 40 | 1L1|F 1 170 2. 20 2.2
ERCEASS D 40 | 1.1 [#dh 2. gl 4. 0[;% 2. 2% 2.2
TRRE o SR B P 0D o P L UK —f#t 6. SE 7.5 2. 2%l 2. 9
RERLIA O I 40 | L1 8 11 2. ot 2.2
iR 37 E=eh 30 | 1.1l 2.8l 4. Ofl 2. 2t 2. 2
Tk et 40 | 1.1 4 2. SE 4.0 2. 2ffi 2. 2
ST Bt — | B -1 - A -




ST 545 i = X 165
HXATE 4 . B ERBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e & & «g 7 #
L| IAfEET N — | B — - - -
B o2 4 M I PR 0D 2 P 3 DX —l 7.8l 1280 2. 2 2.2
LIS o Hitd; 40 | L1 1o/ 15%E 2.2 2.2
Al L K 50 | 1.1 e s
[iRcaglor | dEe
1 REEIRSE M PN o B A K —HBl 7.8 11 2. 2 2. 2
2 kLo 40 | LB ufp o1ed 18R 15
EFESFE ML 50 | 1.1 |7k b dE b T b
AT LA X 40 | L1|F 11 220 2. 2k 2.2
L INN Eeeis — | B -1 - A -
# A I — | BEAR (TR YT B b T b
LRELEAS o Hirts 50 L. 1 (7 B SET B YT b T P T
BT = — | B - - - -
AR Bt — | B (HibtuETREEE - —
& Ece 40 | 1.1 [0 2. 8%l 4. Ol 2. 2% 2. 2
[ R BT £ — | B - - - -
Iy [Rca A% 50 | 1.1 [rhi b M b e b M b
A LA K ik
1 RRREHR N O 2 Al b —#l 8. 6Fﬁ 1264 2. 20l 2. 2
2 _ERCEA DR 40 | L1|% 14f 27 18+ 18
i ot SR BB P D 2 P M D —p#E 8.8 120 — —
FRLASR o iR 40 | L1[F 10/ 17 | —
AL ety 40 | 1.1 [l 2.8l 4. ol 2. 2 2. 2
| BSIE 25 40 | 11 [0 2. 80 4. Ol 2. 2l 2. 2
7o) KA E=t:n 40 | 1.1 (Wl 2. Gl 4. O 2. 2 2. 2
PN £ — | BEAR (TiiuETILYE - —
K ILMTER el — | B - - - -
Bt W BB B A AL




ST 545 i = X 165
HXATE 4 . B ERBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
| e | ROERREN O B 0 e shodwed
2 kRIS Hk 40 | L.1|% 20 345 2. 2% 2.2
LELEASN o i
1 EREiR B s Py o 2 R il KO 7.8 13 2. 2t 2. 2
2 FEREAAh o Mgk 40 | L1|% 10 17#E 2. zr“@q 2.2
&l LIk 50 L. 1 (77 b YT b Y b e L v
AT LA DI
1 Rl SEEE#R R
(1) 3 4R B Il P oD JE2 P th XA it 20/l 330 2. Ol 2.0
(20 ERELS OIS 40 | L1 |H 23[: 45E@ 2. 0L 2. 0
2 RS HR
(1) REEIR B 0 2 H Hi Kk —J#ti 8.3 . Ol 2. 0
(2 kLSO 40 | 1L.1|% 13 . Ofi 2.0
(RS Ext 40 | 1.1 [# 2.3 . Eﬁ 2.2
M & Eeei — | B (Y -
SMIETL~7TH  [fEfER — | By |ICHE gt
T LT X 40 | L1 - L2l 2.2
EH Ece 40 | 1.1 [WE 2.8 i
R it SR BT PN 0D J L 35 —Jiti 9.8 . [: 2.2
ERCLLSR oD Hirksg 40 | L1|% 14 23 32 32
B AT A2 — | B - - - -
FRAK1~4TH |25 — | B Fﬁtm%ﬁftti‘éﬁﬁttﬁfﬁtm%‘
S| B iE L (AESE S 50 | L. 1 |F7ECHERT HHER b e b T
AT (LA Xk
1 ERRER B PN o 2 R il s i 9. 8 15 2. 2t 2. 2
2 LERLS o 40 | L1|F 14[: 27 2. 2l 2. 2
| SFRT gt — | AR (TiuELEE | —
MERT1~4TH |25 — | B (Tl | -




ST 545 i = X 178
HXATE 4 . B ERBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
T| KAHET B — | B (IR | —
Ll R b Xk 50 | 1.1 [T bk HEHT 3T b i b
AT {L A X
1 ol B EUR R R v
(1) JB3EIR T oD B F M Xk ol 9. 50 13 2. 2 2.2
(2) kst o Hhg 40 | 11| 14 27 2. okl 2. 2
2 FGEREEEA SRR
(1) B Wi Py o B2 T i Ik el 1gRh 33 2. o 2.2
(2 _EFELAS sk 40 | L1 21—l 2.2 2.2
3 kiAot
(1) Bl Wk Py o B2 i Hh Ik —ffti 9.8
(2)  _EFELiso g 40 L1|F 14
(5 b X 50 | 1.1 [fTEeiE
[iReaR ok dme
1 REIREHRIE N 0 B —fal 18
2 RO 40 | L1 17
BE B2 — | BSHR |
B4#&1 - 2TH I — | BEAR [l HEdeE | —
7e| HET Bt — | B& -1 - - -
HEb R gciy 30 | 1.1 [fd 2. Sl 4. Ol 2. 2t 2. 2
A g 40 | 1.1 [#E 2.8 .28 2.2
2PN £ R LIS D 12 P M DI —Jhdi 6.3 .2l 2.2
FELLA D it 40 | L1+ 9.8 L2 2.2
=M EsiH 40 | 1.1 [ 2.8 Lo 2.2
P A2 AT e 40 | 1.1 s e
i ZHEIT1~4TH |2 — | B - - - -
PR 1~5TH gt — | B -1 - - -
PISTER Esei 40 | 1.1

2. 8F@ 4, oﬁm 2.2 2.2




S 5FE5 i =R * 185
HXATE 4 . B EREEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® & # ®
i PR B — | B (IR | —
7 387 Ezecn 40 | 1.1 2.8%6 4.0 @ — -
(BN o AR B P o A M R —l 8. 8l 11T 2. 2 2. 2
RELIS O 40 | L1|F 1l 21F 20fF 20
| WEA ExeiA 40 | 1.1 Al 2. gl 4. Ol 2. 2l 2. 2
HpiR ik 40 | 1.1 W 2. gl 4. Ofi 2. ol 2. 2
¥ P 3 I LRI N o FE R X —ffti 6. 3 106t 2. 2t 2. 2
EFRLIA o Hitkek 40 | L1[P 8.1ff 11[:@ 2. 2l 2.2
H AR EiE 9 Finwn 40 | 1.1 —H 48 644 64
EFLLISN O HilE
1 FREEIRG R o B T n
2 LEELUS o R 40 | 1.1
A Eoei 10 | 1.1
B =ty 40 | 1.1
AR =ty 40 | 1.1
i 2 S L S5 PN O R s X -
RFRRLAS o> Mt 40 | 1.1
5 = SR BLHIT PN oD J= M XA -
LFELIS O HiH 40 | 1.1
BT itk Rk — | BB
AT LR Kk 40 | 1.1
iR AL
1 SRR — | BEAR (TTLL T L L T L
2 _LERLS R 50 | L. 1 |7 B B b AT b T
T LR Xk
1 SR hisk Py o0 B2 A X g —#t 9. 8l 13t 2. ol 2.0
2 LFELh o g 40 | 1.1|fp 14E 26/h 48 46
FER1~8TH AL 50 | 1.1

Fﬁbh@"ﬁtb@ﬁtb@ﬁtt@




ST 545 i = X 198
HXATE 4 . B ERBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
i3 R 1~8TH A LIS ik 40% 1.1%43 liﬂP ZEEP 4{qu 4@ i |
FRHE1TH £ 50 1.1 — [T e S v b
W ®ET1~3TH kel — | BEAR —| | L
LS 40 | 1.1 — 2. Ot 2.0
HETER [ickcR A%
1 B — | R (TR L b T LY
2 _RELLISh o HiE 50 | L2 Fﬁttfél:n;tti”éﬁbt@mtfé
AT AR X g
1 JEEEEIR M PN oD B A K —Bl LU 220 2. 2t 2. 2
2 LSO K 40 | L1|H 14 28E@ 2. %% 2.2
A TRET Ee — | B -1 - A -
TR S B b sk PN D R P L R 1 —fit 6.3 L2 2.2
EELIA O 0 | L1|F 11 Lo 2.2
US S R S TR IR PN oD 2 P B X B —fl 5. 4 .2 2.2
EFRLIA O it 40 | LO|F 11 Lo 2.2
I ] [ A 50 | 1.1 |miib¥E E Etbﬁ
T LT X 40 | 1.1 [Wl 2. ol 4. ol 2. 2l 2. 2
5 1@ VLB S TR EF IR
1 RRREHR N O 2 Al b —{# 12Fﬁ 220 2. 2l 2.2
2 _ERCEA DR 40 | L1 14 2780 2.2E 2.2
EFCLAS 0> iR
1 BEIRBUBIER AN o 22 A DX i 5. 4 7. G 2. 2 2. 2
2 ERCEA s 40 | L1|F 8.8 1450 2. 266 2.2
AT+ B PR LA R OEE 9 Fikv 30 | L1 10 350 2. 260 2.2
RERLIA O I 30 | 1.1 2. 900 4. 9t 2. 2% 2. 29
REETEF E=eh 30 | L1 2.9 4. 9l 2. 2t 2. 2
T S gt 30 | 11| 2. 00 4. ol 2. 2l 2. 2
TR TR Eset: 30 | 1.1 [ 2. 9 il 2. 2

4. 9’%‘@. 2.2




ST 545 i = X 208
HXATE 4 . B ERBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
5o REHBHT S Eein 30 | 1.1 [WE 2.9 4. o 2. 2l 2. 2
T AT Ezecn 30 | 1.1 fd 2. 9E 4. 200 2. 20 2.2
T BT T8 R LA AR EA SR C IR RS e A L 7
1 EREiR B s Py o 2 R il KO i 3. 20 4. Ot 2. 2t 2. 2
2 FEREAAh o Mgk 30 | 1.1|% 9.0 15 2.2k 2.2
EELIA 0 i 30 | 110 3. 9%l 4. 9l 2. 2%l 2. 29
BT Eet: 30 | L1 W 2.0l 4. 9l 2. 2l 2. 2)
R AT P Eseii 30 | L1 [WE 2.9 4. 9l 2. 2l 2.2
FEHHTHR)| g 30 | 1.1 W 2. off .ol 2.2
AT N E Eet’ 30 | L1fH 2.9 Lot 2.2
TR ] HR Ecei 30 | 1.1f# 2.9 L2l 2.2
T 1L Ei# 9 iR 30 | L1|R LU 170 2. 2% 2.2
ERELASN 0 HiU
1 MEEGILIERG, RGLMEFAA 30 | 1.1 [Fh 2.5l 4. 90 2. 20 2.2
U F MBS LA AR
2 EREELS O 30 | 1.1l 2. 90 4. 9l 2. 2Kk 2.2
REF EiE 9 FIWV R GRGERE T SRHRB 0
1 BRI N o B A XK —i 15[ 31t 2. 2t 2.2
2 RELEA o 40 | L1 17 41t 64t 64
LFRLAA o it
1 BREiR st PN o B X s — it 10rm 14§ 2. 2l 2. 2
2 hEE o i 40 | L1 14 25 64[13 64
ma LRIk 50 L. 1 (7 B SET B YT b T P T
A AR X
1 REIRE e o B2 T Ik —ifl 1Ol 19 2. 2 2. 2
2 ERLEA O 40 | 1.1[F 14rj: ST@E 2. zrﬂ 2.2
JRA TRk I 50 | 1.1 |7 bbHET b SR b M L 2
T LT DX 40 | 1.1 (Wl 2. 8l 4. Of 2. 2l 2. 2
=isl e — | B3R H?tti’éfztt@[:ﬁtti’éfﬁtt?%




S 5FE5 i =R * 21§
HXATE 4 . B ERBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
S T b X
1 KRR EIE ko T2 AT H 40 | 1.1 (T PLEE bk b T b
2 LEELIS o 50 | L. 1 |7 BT B b Y b T
AT LR X
1 IR MG PN o 2 P b X It 7.8 12 2. 2l 2.2
2 LFELIA o i 40 | L1|d 10 15§ 2. zrﬂ 2.9
E I E=et — | R (TR ST b T L T b 2
JiE1~5TH ML
1 B — | BEHR [T L YT e Y b
2 hRLSt oK 50 | 1.1 [T Lb YETT bh YT L MR b T
T LA X 40 | 1.1 —| 2. 280 2.2
FET ART B — | B s e
5 IR 30 | L1 [ 2. 8l 4. Ol 2. 2l 2. 2
R4 =ty 40 | 1.1 [#t 2. SE: 4. OEm 2. 2t 2.2
AFT1~5TH ES — | B - - -1 -
E| R g 30 | L1 [WE 2.8 4. orm 2. 2{(»& 2.2
KT 1 ~3 T H Eee: — | B ‘rﬁtti%ﬁttﬁfﬁttﬁfﬁttﬁ
b sty 30 | 1.1 2.8 4. O 2. 2% 2.2
AR B ST B A SRR
1 SRR o 2 Tl X —d 11—l 2. 2%l 2.2
2 RELS O HUR 40 | L1 14 310 2. 20 2.2
EFELA o> ik
1 BB o B2 A X I —Ifl 5. 4l 7. S 2. 2l 2. 2
2 LERLIS o s 40 | 1| o6 BT 11 2.2 2.2
3 s Bt A — | B [TlbMEEEE | —
_EEELIAN 0> itk 50 | L1 [fitk¥EmHE - —
KE1~4TH Eeei 50 | 1.1 |WibtEETEHYEE 0 — —
FUILET AT b XIS




S 5FE5 i =R * 22K
HXATE 4 . B ERBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
| ST | 7 E%ﬁ%‘rﬁttzfgfﬁtﬁgﬁittéﬂitm%
2 BRSO 50 | L. 1 |FTECYET L YET b e b T
A LR X 40 | 1.1 —| il 2.0t 2.9
7 THIRE ESeEn 40 | 1.1 [ 2. 8l 4. orﬁ 2. 2l 2.2
=3 [k Ames 5 | 1.1 FEH:?%EH:@FEH:L‘%FHH:?%
AT AR K ek
1 BSESIRERR W,
(1) B Wi Py o B2 T i Ik 1okt 22l 2. o 2.2
(2)  ERELSoHIE 40 | L1|% 19 344 2. 24 2.2
2 kLA o
(1) Bl Wk Py o B2 i Hh Ik —fl 6. 3B 1080 2. 2 2.2
(2) EFELAsOHIR 40 | L1|F 1UF  15% 2. 2% 2.2
e m1~2TH |2 50 | 1.1 |7 BT b b T b T
w7 E3TH S A — | B ‘rﬁtl:“ﬂ%l:tt"‘f% H ¥
_ERELAA 0 Mg 50 | 1.1 |7 BT LY b T b T
HEET Ex: 40 | 1.1 e e
L) ko4 — | B# - - - -
FAPR R AT 358 — | BRAR (7 LT LL Y L T L2
EFELIA O HiR
1 THIEBRREFEFR 2 SR LAV CrTE bRy 50 | L. 1 |7 b BT e fe T E T
TRAEER AL AL 0D Hs e OV 1 P B A
TEBRARLATE THRIFFILLR D Hilsk
2 kELUSOHIR 50 | 1.2 (Witk¥ETEeTE - —
HZE&E1~3TH i 50 1. 1 |77 EbHERT ¥t e L 7
(HF1I~5TH | B0 | 1.1 [T bl HETT LY b YT L T
HR ke 40 | 1.1 [#f 2. g 4. OF@ 2. 2ffi 2.2
83 B A A g — | BEAR (TiiuETILYE - —
L FRELA o itk 50 1.1 [T b BT L - -
=iin Eeiy 40 | 1.1 [#l 2. 8t 4. oﬁm 2. 2% 2. 2




ST 545 i = X 23E
HXATE 4 . B ERBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
A R 1~3TH &g — | B (IR | —
WARSF Ezecn 40 | 1.1 [ 2. sl 4. Ol 2. 2 2. 2
E i 40 | 1.0 | 2. 8l 4. Ol 2. ol 2. 2
o [h)[E % EzeEn 40 | 1.1 [ 2. 8l 4. ot 2. 2t 2. 2
b| FIHRAT AR Epe 30 | L1 [A 3.5 4. 60 2. 1fl 2.
FHRNT 22T I 30 | 1.1 W 3. 50 4. 6l 2. (1l 2.1
FRET 2 B Koo 30 | L1 [W 3.5 4.6 2. 1l 2. 1
PRI ke 30 | 1.1 |A 3. 50 4.6 2. L 2. 1
FHHENT 2 ST 30 | 1.1 |W 3. 50 4 60 2. 1 2.1
FHEET )1 I 30 | L. 1B 3.5l 4. 6l 2. L 2.1
FWEAT AR ke 30 | 11|l 3.5 4. 60 2. L 2.1
FIHRT & 4T Eil 5 3 5w 30 | L2|F 10 170 2. L 2.1
EELIA O 30 | L1 3. 50 4. 650 2. 15 2.1
FASENT o T EiE 5 3 5w 30 | L1|F 10 17 2. L 2.1
LRELLA D s 30 1.1 | 3. 5[0 4. 6l 2. 1
FHFEET IR Ex: 30 | 1.1 [Af 3.5 4. 6 2. 1
FHHEHT SEAE E=et 30 | 1.1 fwE 3. 5[ 4. 6f 1
FHEE] SR g 30 | 1.1 [WE 3. 560 4. 6 2 1
FHHEET FRHA EE 5 3 Bk 30 | L1[F 1 17 2. 1
EFRLIA O HitE 30 | L1 3.5l 4. 6[;; 2. 1
FA¥ERT R 1 £ 30 | L 1[G 3.5l 4. 6 2. I 2.1
gl Eetin — | B - - - -
LT 1 ~4TH i — | BE# — — — -
FTRTET e — | EB#R - - -1 -
e [k A 40 | L1 |7 o b Y e v b
M RS K 40 | 1.1 [Wl 4. 90 7. 8% 2. 26t 2.2
EE: i 40 | 110 2.8%0 4. Ol 2. 1 2. 1
R ZE K o — | B (Tl | -




ST 545 i = X 2UE
HXATE 4 . B ERBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
S BRI o> ik 50% 1. I%Fﬁttfgfﬁttféﬁibtgﬂittfg ’ ’
K& Ecti 40 | 1.1 [ 2. SL 4. OF@ 2. zrpq 2.2
LR AT £ — | B — |77 b TS P YT L
HRA BT i - | B& s e
FEATAT g — | B -1 - A -
W AL - 2TH LIk — | R [T L HETT P Ve b e L v
AT LR 40 | 1.1 —  —l 2. Offi 2.0
K| BEEE Eeesy 40 | 1.1 [Wf 2.8 4. O 2. 26 2. 2
o e L S T o R BRLHIER PN oD o P L 3 —|il 6. SE L0l 2. 2% 2. 2
EELIA O Hi 40 | LU|H 1 199 2.2 2.2
P Eee:T — | BRAR (TibbMETREEE O | —
HEHECL - 2TH |2 — | B s e
HEHER1~4TRH |25 — | B (TRMERTELYE | —
HR S A — | B ‘rﬁtl:“ﬁ%l:tti% - -
LRRLAS O itk 50 1. 1 [T ELHET HL Y - -
EFH1~3TE gt — | BEMR (7L AT LTS - -
HEEEHT 1 - 2T H |4 — | B ‘rﬁttiﬁl;tttﬁfﬁttﬁfﬁtti%
=43t WEREER S SHA
1 RRREHR N O 2 Al b —{# 10Fﬁ 25 2. 2l 2. 2
2 _ERCEA DR 40 | L1|% 14 31k 2. ZE 2.2
EFCLAS 0> iR
1 BEIRBUBIER AN o 22 A DX —ti 7.8 13 2. 2 2.2
2 LERIA otk 40 | L1 1yfr 17 2. 2% 2.2
2| AR H F AR BT P o A M ROk —|il 5. 4l 7.5 2. ol 2. 2
RERLIA O I 40 | L1 8.8 148 2. 2%t 2.2
| AT =i — | B — - — —
HEEIL1~6TH |2 50 1.1 - - - -
FEEHE1~6TH |2 50 | 1.1 s




)
1
o

5 5L OB E

I RETH 4 . BT SR E

E £2 ; o B B Pt L T (s 5
g ™ (TH) XiRFH HWo M oo & B e B

% - s = = f&

| #¥EEMT7TH Eeeid 0 | 1.1 — — _ _

3

&




